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29 65 200 -1. 0 -0 .5
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y=abh X y=a ebdx |y=ab Inx|[ y ax"b y at+ bx H(1e & B)
K= 2, 000
a=[ 459 56 905 (49 215 433 | - 99 1651 (24 76 B9 @ |8 6.9 78 8 1. 53 897
b=| 7 34 857 0 01 @49 | 20 27 2237 0.2 86 B |- 5574 .32(5202 Q@6 362
r=| 0 65 390 0 65 932 0.6 33 & 0.6 80 2 0.6 52 8 0. 66 167
2 69 453 69 419 69 8 69 3 69. 8 694 .73
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4 70 922 70 928 7. 9 70 8 70 8 709 .52
5 71 656 71 694 70 8 70 8 76. 8 716 . 47
6 72 390 72 469 76. 6 76 8 70 92 724 . 62
7 73 125 73 252 72 1 72 8 73 17 731 .28
8 73 859 74 044 72. 3 78 2 78 4 739 .14
9 74 593 74 844 72 8 738 6 72. 2 747 . 40
10 75 328 75 653 73 9 79. 8 78 7 754 . 07
11 76 062 76 471 72 9 78 3 79 7 762 .83
12 76 796 77 297 77 8 76. 8 72 24 770 .01
13 77 530 78 132 783 8B 75 3 78 98 777 .58
14 78 265 78 977 798 2 76. 9 78 4 785 .26
15 78 999 79 830 76. 9 76. 9 74. 8 793 .24
16 79 733 80 693 76. 8 71.Q 73 8 801 . 52
17 80 468 81 565 70 @ 7% @ 78 8 809 . 01
18 81 202 82 446 7% 8 78. 8 78. 0 816 . 89
19 81 936 83 337 79 6 78 5 7% 3 824 .88
20 82 670 84 238 78 5 79 3 78 8 832 .18
21 83 405 85 148 78 T 78 9 75.8 840 .57
22 84 139 86 068 79 1 79. 58 793 8 848 . 27
23 84 873 86 999 78 9 8@ 0 78. 8 856 . 17
24 85 608 87 939 78 8 88. 53 76. 9 864 . 17
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30 75 800 14. 0 1.8
75 900 1. 0 0 . 3]
y=abh X y=a ebdx |y=ab Inx|[ y ax"b y at+ bx H(1e & B)
K= 2, 000
a=| 549 86 667 |57 268 701 | 9 54 8580 (31 04 86 3 |9 3.1 27 8 0. 89 617
b=] 6 80 000 0 00 962 | 19 35 9638 0.2 68 8 |- 5493 .45(6 303 @4 5%
r=| 0091874 0 91 382 0.9292 0.9 26 3 0.9 56 8 0. 93 551
2 76 747 76 779 76. 4 76. 3 76. 8 767 .95
3 77 427 77 485 72. 0 72 9 70.6 774 .05
4 78 107 78 198 78 8 78 8 7% 8 781 .24
5 78 787 78 918 78 9 78 8 78. 6 788 .73
6 79 467 79 645 78 2 79. 6 78 3 795 .43
7 80 147 80 378 785 78 3 78 6 802 . 33
8 80 827 81 117 79 1 80 8 79. 5 809 . 43
9 81 507 81 864 8a 2 80 3 78 B 816 . 73
10 82 187 82 617 80. @ 82 6 79 8 823 .14
11 82 867 83 378 81 2 871 @ 86 3 830 . &4
12 83 547 84 145 89 0 83 0 86. 2 837 . 65
13 84 227 84 920 83 @ 88 7 80. 8 844 . 76
14 84 907 85 701 88 0 83 & 82 2 851 . 87
15 85 587 86 490 83 4 88 6 85 @ 858 . 19
16 86 267 87 286 88. 10 82 8 87T 6 866 . 60
17 86 947 88 089 880 8 817 @& 80 2 873 . 22
18 87 627 88 900 84 @ 883 8 82 @ 880 . 4
19 88 307 89 718 88 8 865 8 838 @ 887 . 8
20 88 987 90 544 83 8 86. 9 82 8 894 .87
21 89 667 91 377 86 @ 86. 8 89 0 901 . 99
22 90 347 92 218 86. 3 80 B 83 2 909 . 12
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24 91 707 93 924 88 2 88 8 88. 9 923 . 86
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y=abh X y=a ebdx |y=ab Inx|[ y ax"b y at+ bx H(1e & B)
K= 2, 000
a=| -6 50 62 (23 803 693 |- 1499.29(23431Q7 Q@ | 1273 . 832892823 944
b=| 22 74 857 0 03 720 | 63 96 4730 0.9709 | -19290248 0. 61 636
r=| 0091 975 0 92 249 0.901 6 0.917 6 0.8 98 6 0. 96 933
2 72 127 72 304 76 9 78 8 72 3 722 .31
3 74 401 74 859 78. 58 70 3 79 2 746 .31
4 76 675 77 504 75. 8 78 3 78 0 770 . 64
5 78 950 80 242 7% 3 78 G 76.7 795 . 70
6 81 224 83 077 79 8 86. 9 78 0 819 . 49
7 83 498 86 012 80. 7 82 8 78 6 845 . 40
8 85 772 89 051 8B 8 88 8 80 2 870 . 53
9 88 047 92 197 83 & 81 2 83 2 895 .38
10 90 321 95 454 85 @ 88. 8 823 8 921 .44
11 92 595 98 827 88 4 95 1 88 12 947 . 61
12 94 870 1 p2 318 80 8 98. 9 886 5 972 . 59
13 97 144 1 p5 933 96. 9 98. 0 86 0 998 . 77
14 99 418 1 P9 676 9D @ 98. 8 86. 5 1, @4 .06
15 1 p1 692 1 13 550 93 8 1,0Q. 8 84 @& 1, 60 .93
16 1 03 967 1 17 562 948. @ 1,02 @ 88 2 1, 06 .21
17 106 241 121716 9@ 8 1,08 3 89. 6 1, 01 .47
18 1 08 515 1 26 016 98B B 1,08. 8 89. 1% 1, 27 .42
19 110 790 1 30 468 98. 8 1,08. 2 90G. 3 1, 52 .65
20 1 13 064 135 077 1,0@ 3 1,10 8 92 8 1, 17 .8
21 1 15 338 1 39 850 1,05 @ 1,12 8 92 8 1, P2 .8
22 117 612 1 44 790 1,02 6 1,18 3 98 2 1, 27 .2
23 119 887 1 49 906 1,08. 6 1,18 Q@ 93 3 1, 81.75
24 122 161 1 55 202 1,08 6 1,19. 8 94. @ 1, 25 .06
25 1 24 435 1 60 685 1,0868. 38 1,29 8 93. 6 1, 99 .03
26 126 710 1 66 362 1,02 8 1,24 @ 98 8 1, 32 .36
27 1 28 984 172 240 1,08 9 1,28 6 98. 8 1, 35 .8
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27 59. 0 2 500 5 06
28 52. 0 2.0 0 39
29 48 0 -34. 0 -6 53
30 56. 0 1 800 370
48 0 - 900 -178
y=ab X ya ebx |[y=ab Inx|[ y axh y a+ bx =K e (abx)
K= 2 P00
a=[5574 052 |58. 20600 |67 60 B9 B (7 6.81 B37 [45 45 37 95 0 94 754
b=| - 1887 24| -0. 0365 [-5148189 | -0106879 | 1395. 3740 80 861
r=| 0.25363 0. 82627 0.2 3 2 0.24 277 0.2 38 @ 0 25 9265
2 49 0 497 04 49 @ 49 757 48 12 49 705
3 48 8 495 20 48 06 49 603 48 8 49 520
4 48 8 493 38 48 8 49 453 48 % 49 335
5 49 4 491 56 48. 0 49 309 48 0 49 151
6 48 3 489 75 49.5 49 169 48 92 48 967
7 48 @ 487 94 49 1 49 033 49 2 48 784
8 48 8 486 14 48 B 48 902 49 8 48 601
9 48 8 484 35 48 38 48 774 49 3 48 419
10 48 8 482 56 48 2 48 649 48 4 48 237
11 48 0 480 78 48 8 48 528 48 56 48 056
12 48 2 479 01 48 @& 48 410 48 B 47 875
13 48 2 477 24 48 9 48 296 48 8 47 695
14 43 4 475 48 48 2 48 184 48 2 47 515
15 42 5 473 73 48 6 48 075 48 8 47 335
16 40 @& 471 98 48 8 47 968 48 8 47 156
17 4868 470 24 47 8 47 864 48 2 46 978
18 469 468 51 48 2 47 763 48 6 46 799
19 46 _Q 466 78 43 8 47 663 48 Q 46 622
20 48 2 465 06 43 @ 47 566 48 4 46 445
21 46 2 463 34 43 @ 47 471 48 8 46 268
22 495 8 461 63 42 @ 47 379 48 8 46 092
23 453 37 459 93 41. @ 47 288 48 8 45 916
24 45 8B 458 23 40 8 47 198 48 3 45 741
25 48 10 456 54 46. 3 47 111 49 9 45 566
26 45 8 454 86 486 8 47 026 49 8 45 392
27 48 9 453 18 48._8 46 942 49 Q 45 218
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26 48 700
27 53 300 46. 0 9 . H
28 50 400 -92.0 -5 . 4
29 49 900 -5. 0 -0 . 9%
30 57 200 73. 0 14 . 36
53 000 - 2.0 7 .4p
y=abh X y=a ebdx |y=ab Inx|[ y ax"b y at+ bx H(1e & B)
K= 2, 000
a=|254 56 905 (31 265 827 | - 370. 3% ®14G 27 0 |7 8.6 83 G 1. 34 423
b=| 9 34 857 0 01 856 | 26 61 4739 0.586 9 |- 7555 .18[3 408 B4 198
r=| 0 56 602 0 56 689 0.589 @ 0.5 838 0.5 66 8 0. 66 345
2 55 353 55 363 583 12 58 6 56. 9 553 . 06
3 56 288 56 360 56. 3 56. 8 593 @ 563 .43
4 57 222 57 376 56. 8 56. § 58 8 573 .71
5 58 156 58 409 58 9 57. 9 51. 6 583 .21
6 59 090 59 462 58. 8 58 8 57. @ 593 . 61
7 60 025 60 533 50. 8 548 8 58 0 603 . 03
8 60 959 61 623 59. 8 60 6 58 0@ 613 . 45
9 61 893 62 734 6@ 9 60 @& 58. 7 623 . 88
10 62 828 63 864 61 8 68 8 58. Q 634 .13
11 63 762 65 014 68 0 6B 8 60 @& 644 .38
12 64 696 66 186 62 4% 63 0 60 Q 655 . 44
13 65 630 67 378 68 8 64. 1 61 9 666 . 51
14 66 565 68 592 68 9 68 8 65 8 676 . 49
15 67 499 69 828 62 8 66 2 69 0 687 .18
16 68 433 71 086 68 3 66 1 62 6 698 . 77
17 69 368 72 366 68 8§ 61 4 6B 5 709 .08
18 70 302 73 670 66. 6 68 @ 69 B 720 .29
19 71 236 74 997 66 8 68 8 62 1 732 .11
20 72 170 76 348 60 9 69 8 68 9 743 .73
21 73 105 77 724 68 9 69. 9 68 3 754 . 07
22 74 039 79 124 68 8 76.8 64. 6 766 . 01
23 74 973 80 550 68 38 73 3 64. 8 777 .75
24 75 908 82 001 69 90 70 8 68 9 789 . 90
25 76 842 83 478 68 8 72. 8 68 38 800 . 86
26 77 776 84 982 70.8 738 0 653 8 812 .23
27 78 710 86 513 76. 9 70 8 68 8 824 . 10
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(%
6,69 0
6,70. 0 91. 0 1.6t
6,37 0 -48. 0 6 . 9%
6,28 0 8. 0 0.7
6,30 0 15. 0 0 .4
563 0 -69 0 9 . 8
y=abh X y=a ebdx |y=ab Inx|[ y ax"b y at+ bx K(le e w)

10, 000

11601.75/42999 4283864 .65|7®@4226| 1166. Q122389 408

-184. 8857002 998 |- 5216 .8|5708349 | 146709592 | -0. @9 292

65
88

0 89 233 0 88 858 0.8 86 8 0.88 9 0.8 83 8 0. 85 528
2 5 69 160 5 70 517 573 3 578 8 575 3 5 61 .61
3 5 50 691 5 53 878 558 9 558. 9 5686 6 5 85 .18
4 5 32 223 5 37 725 5486.6 548 2 548 %8 5 88 .59
5 5 13 754 5 22 043 526 8 532 8 538 3 5 01.91
6 4 95 286 5 Pp6 818 5160. 8 518 @ 528 8 4, 83 .51
7 4 76 817 4 92 038 4,96. 8 508. 3 518 8 4, 85 .44
8 4 58 349 4 77 688 4812 8 4,98 3 503 @ 4, 98 .8
9 4 39 880 4 63 757 4,69 8 4,86. 8 493 8 4, 83 .34
10 4 21 411 4 50 232 4,56. 2 4,76. 0 483. 9 4, 10 . 24
11 4 02 943 4 37 101 4,43 8 4,68 8 4,78 2 3, 90 .60
12 3 84 474 4 24 354 4,36. 6 4,586. 8 4,68 98 3, 32 .29
13 3 66 006 4 11 978 4,18 8 4,48. 9 458 @ 3,89 .15
14 3 47 537 3 99 963 4,08. 0 4,38. 6 4,586. 9 3, 30 .62
15 3 29 069 3 88 299 3,98 8 4,33 8 4,49 8 3, 95 .8
16 3 10 600 3 76 974 3,832 0 4,28. 9 4,38. 8 3,05 .28
17 2 92 131 3 65 980 3,78 9 4,18 8 4,29. 8 2, 81 .92
18 2 73 663 3 55 307 3,60. 0@ 4,08 4 4,23 8 2, 02 .32
19 2 55 194 3 44 945 3,50 8 4071 8 4,18. 8 2, 88 .78
20 2 36 726 3 34 885 3,38 1 3,96 9 4,106. 3 2, 81 .43
21 2 18 257 3 25 118 3,29 8 3,88 6 4,08 8 2, 89 .67
22 199 789 3 15 637 3,192 8 3,83 G 3,990 8 2, 24 .91
23 181 320 3 06 432 3,09 3 3,78. @ 3,93 6 1, 94 .66
24 1 62 851 2 97 495 2,98 @ 3,78 3 3,88 8 1, 81 .61
25 1 44 383 2 88 819 2,88 8 3,68 @ 3,88. 9 1, 83.26
26 125914 2 80 396 2,88 8 3,58 8 3,78 1 1, 81 .8
27 1 07 446 2 72 218 2,72 5 3,588 3,72 0 1, 8 .21

20




12

(%
26 1,38. 0
27 1,36. 0 -8 0 6 . 0]
28 1,43 0 180 9.3
29 1,48 0 15. 0 1.5
30 1,48. 0 -9. 0 0 .2
1,4Q2. 0 -8 0 2 .4
y=abh X y=a ebdx |y=ab Inx|[ y ax"b y at+ bx H(1e & B)
K= 2, 000
a=| 1045. 333981. 6918786 5503 (58 08 I8 T | 177 1. 81 10.300 940
b=| 12 60 000 0 00 951 | 36 32 4336 0.286 2 | -10229863 0. @9 468
r=| 0 45 838 0 45 792 0.4 9 & 0.4 838 0.4 65 @ 0. 86 034
2 1 44 893 144 971 1,42. 6 1,48 3 1,486. 6 1, 48. 20
3 1 46 153 1 46 303 1,48. 2 1,46. G 1,456. G 1, 89 .37
4 1 47 413 1 A7 648 1,46. B 1,41. & 1,46. 3 1, 71 .8
5 1 48 673 1 49 006 1,48. 1 1,48 8 1,42. 0 1, 82 .76
6 1 49 933 1 50 375 1,49. 8 1,48 9 1,48 8 1, 83 .98
7 1 51 193 1 51 758 1,50. 8 1,5 2 1,49. ¥ 1, B4 .69
8 1 52 453 1 53 153 1,50. 9 1,55 8 1,49. 8 1, 85 .68
9 153 713 1 54 561 1,59 2 1,58. 8 1,58 @ 1, 36 .06
10 1 54 973 1 55 982 1,58 @ 1,58. 8 1,51. 8 1, 87.71
11 1 56 233 1 57 416 1,53. 8 1,56. Q@ 1,51. 6 1, 87 .8
12 1 57 493 1 58 863 1,586. 8 1,55. 8 1,53. 1 1, 57 .18
13 1 58 753 1 60 323 1,58. 8 1,56. 5 1,59. 8 1, 67 .98
14 1 60 013 161 797 1,58. 2 1,58. 0@ 1,53 9 1, 87 .97
15 1 61 273 1 63 284 1,51. 8 1,58 2 1,50. 8 1, B7 .35
16 1 62 533 1 64 785 1,59 9 1,58. 8 1,58 2 1, 57 .01
17 1 63 793 1 66 300 1,58 2 1,60 6 1,56. 1 1, 66 .05
18 1 65 053 1 67 829 1,58 8 1,61 @ 1,58 3 1, @5 .47
19 1 66 313 169 372 1,60 38 1,602 8 1,58. 6 1, 84 .18
20 1 67 573 1 70 929 1,660. 8 1,69 6 1,5868. 4 1, 83 .17
21 1 68 833 1 72 500 1,66 8 1,63 8B 1,58. 8 1, 82 .54
22 1 70 093 1 74 086 1,63 9 1,68 8 1,51. 38 1, 61 .30
23 171 353 1 75 686 1,68. 8 1,68 2 1,58 2 1, 69 .44
24 172 613 177 301 1,63 8 1,68 4 1,58. 8 1, 67 .9%
25 173873 178 931 1,64. 8 1,60. 8 1,58 8 1, 85 .87
26 175133 1 80 576 1,656. 8 1,68 8 1,58. 38 1, 83 .17
27 1 76 393 1 82 236 1,693 2 1,68 8 1,58. @ 1, 61 .94
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